Good Arm Identification via Bandit Feedback

201700 OO
oo goooooooguo
o0 oooooooooon

47-166095 00O OO
goooooo g o

1 0000

0000000000 0O0D10D000000D00 KOOO
obooboboboboobobob l1ooobooboooboooo
gboboopoboobobooobogobooobooobog
odo0o0ooobooobooobooobbooobboooboog
gobooboboobobooobooobboooboooboa
goobobOo0O0oooooobobOooboboobboOoOooOograso
gbobooopoboobobooobogobbooobobooobod
odo0booo0oboobobooobooobbooobooobooo
gooboopobooobooobooobbooobooobooa
googo

gboboboboboboooooobooboboboonoo
gooboooboobobooobooobbooobbooobooo
gooboopobooobooobooobooobooooboog
gbobooobogboboobbooboonoobad

2 J0bOOoOoooboobooog

oo ooooooon
dddododdooooooooooooooooobobon
0oooooooooooon
21 ODODOOODOO

000000oDOOoooDOoToDO00oO00oDOOoOoOoooDoOg
00000000000000000000000O000000
ooooooooooon

000000000 Upper Confidence Bound (UCB) OO
[l]0000000000000000 UCBOOODOODOOO
Jddddddddddddooooooooooooo tooo
0000000000 O(l/t)yboo0ooL0o0ooooooo
oouCBoOOOUOOUOOODODOOOODOOOOOOOOO
dddoooooobobbobobbobooobo
22 00000

000000000000 D0O0O0o0oOoooOoo é0O0OO
dddddddoooooooooooon
gbogbobogbgooobooboobbobuoobuoboon
ogd

000000000 Lower and Upper Confidence Bounds

(LUCB)OUO 20000000000 UCBOOOOOOOOO
000000000000 LCBOOOOODOOO0DOOO0OUCB
00000000000000000000000000000
00D00DO0OLUCBOOODOOODOODOODOODODOO
00000000000000000000000000000
O(log(1/6)) 000000
23 0O0O0O0ODOOODOOOO
00000000000000000 7000000000
00000000000000000000000000000
000000000000D00000000000000000
00000000000000000000000000000
00000000000000000000
000000000 Anytime Parameter-free Thresholding
(APT) 00 3]0000000000000O00DOO0O0O0
0000000 70000000000000000 70
oooog

3 Doooo

00000000000000000000000 0000
goboooboodobboobbuoobboooboooobo
gobooooboboooboboobbooboboooboooboo
goboooobboooboboobbooboboooboooobog
gobooobobooobboobobuoobobooobooooo
obobobobooooooooobooboboboobooobogoon
goo
31 0000

1000000000 KOhOoooooooooooo 100
O00000oo0ooooooo0ooooo é0noooooO
goboobooobbooboboobbuoooboooboooobo
000000000000 0o0ouoouon {u fiIDDDD
gobogobogboboobo

P1 > 2 2 2 iy 2§ 2 g1 2 2 K

O000OmO00O00000O000OO0OOO0ODO0OO0O0O0OO0O0O 60
O00000ooooo é0pDooooooooooooooo
gogbobooobbodobboobobuobbooobooooo
000D000o0oooObOo00o0oooobObOooooooDoDD L



(NULL) OODOOoooooo

0000000 ANODODOOODDOOOOOOODOOOooOn
000000000000 00000000 L (NULL) OO
00000000000 000 70 000000000 (A 9)-
PAC (Probabily Approximately Correct) 000 6-PACO OO
gobooboogooogn

00 1 ((\6)-PAC). 000D ADDDOOOOOOOOO A
00000000000000000004000000000
0 A0D0D0O00O0O0L (NULL) 0OOOOOOO ADDO0OO
0000000000 6000000

00 2 (8-PAC). 00D A e {l,...,K} 0000 (X d)-PAC
oooo

0000000000000000 6-PACOD0OOOOOOO
000 {r,72,...,Tstep} 00000000000000000
oooo

3.2 0000000
00000000000000000000000000

00 1. 000 (\6)-PACOODOOUODOODODOODODO

E[ry\] > Z)\:llogl _m
T\ dpis§) T 26 ) d(pas§)

1=

0o000d(,-)000000000D0DO0OO0ODOO0OOOOOOO
gbooogobogoo

00 1,2000(M\9)-PACO §-PACODDODOODOOODOOO
A000000000DO0O0O6PACOOODOO (N0)-PACODO
gbooboob nnoobboooboobobuoobboooboono
(\O)-PACOODOOOODD O é-PACOOODOOODOOO
04200000

4 ODOOOOoOooO

oo0booobooobooobooobobooboboooo
gobooboooboobobooobga
41 0O0O0OOOOOOODOODO
00000000000LUCBOOOOOO0DO0O0O0OO0O0O00O
OO0 APTOODOOO0ODOODOOOOODOOODOOOOOOO
00000000 LUCB-GOOO APT-GOOOOOO0OOOO
000000000000000 O(Klog(1/6))0000000
gbobooboobooboobobobobobobobobo
42 00O0O0OOODOOODOO
O000000000D0DOOO0OHybrid algorithm for the
Dilemma of Confidence (HDoC) 0000000 O HDoC OO
0000000000000 00D0DDO UCBOOO f(t) =

fi(t)+ /58, 00000000000000000 LCBODO
0 (1) = fut) — /U0 0op 000000 A
0Di000t0000000N(#)00:000¢000000
0000000

000000000000 00 O(\log(l/d) + (K —
A)loglog(1/6)) 00 DOHDeC 00DOODOODDODOD
D0000000000000000000000000000
D0000000000000000000

5 0ood

gogbogobooobooobooobooobboooo
0000000000000 00000000O00: Synthetic
1-3000000000000: Medical 1,200000000
0d=005000 1000000000 100000000000
O00000000000OMedical 200000000000
HDoCOOODOOOODODODODODOODOOODOODOOODODOOOD

01 Obooooooooo

Synth. 1 n ™ 3 ™ 5 Totop
HDoC 114.0 + 21.8 146.7 + 22.6 186.8 + 34.4 T78.7 + 741.1 5629.2 + 1759.6 10264.1 + 2121.1
LUCB-G 134.4 £+ 26.6 167.3 £ 27.5 197.0 £ 31.2 798.0 + 246.5 5702.9 £ 1589.9  10258.2 £ 2054.9
APT-G 6067.5 + 1789.3 6282.5 + 1810.9 6473.4 + 1820.9 8254.0 £ 1909.5 10161.3 £ 2062.0  10243.0 + 2062.0
Synth. 2 ut T2 3 Tstop
HDoC 202.2 + 106.7 825.8 + 1048.7 5237.2 + 1614.8  10001.2 + 2051.5
LUCB-G 259.5 + 120.4 763.7 + 260.4 5566.6 + 1575.5 9961.8 + 1957.7
APT-G 6891.3 + 1776.4 7990.7 £ 1839.1 9971.4 + 1976.5 10048.9 + 1976.5
Synth. 3 I Ty T3 Tstop

HDoC 7081.3 + 2808.4 10955.9 + 2954.4 18063.0 £ 9252.0 46136.6 + 4699.4
LUCB-G 10333.0 £ 3330.0 14183.6 + 3186.7 17162.8 + 2997.7  46059.1 + 4740.4

APT-G | 44326.0 + 4708.1 45212.9 + 47272 4B6T6.7 + 47278 458527 + 47278
Medical 1 n Titop
HDoC | 10170.1 + 4276.6  31897.1 + 5791.0
LUCB-G | 10524.9 +3180.7  31827.9 £ 5786.0
APT-G | 30847157249 315707 + 58294
Medical 2 f. ™ 3 ™ Tatop

HDoC 17748.1 £ 10045.8 36695.0 £ 14006.3 69362.3 = 18170.8  829915.2 £ 9976.9  875900.0 £ 284915.5
LUCB-G [17741.0 £+ 10073.5 36169.2 + 13504.2 67343.4 + 18105.0 821671.8 + 6713.5 865808.6 + 298620.9
APT-G | 623465.0 + 238518.3  674725.3 + 232943.8 710539.1 £ 243000.9 855729.7 & 286830.9 861223.9 + 286280.9
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